14

1%




144







145







10

11

13

14
15




17

18

20
21

22

23

24

26




33

33
28
33
1.89 33
33 33
29
31




38

39
40
42
1.65
3 3
1.98

43

3.3




146

10




11




10

19
24

26

20

24
26

12




37

38

40

13




41

46

49

14




147

. 56

10

10

15




10

40

18

11
12
14

148

16




i

14

16

17

17




24

26

149

18




12

150

151

152

153

154

155

156

157

19




158

159

160

161

162

163

164

165

166

167

168

169

170

171

172

173

20



174

175

21




176

177

22




178

179

23




180

24




181

km

25




727,

106

661,,861

65,

2 804 ,

26

45



27




S

@/\/\/\







4,150.7 m'

14,152.8 m

10,002.1 m

15,573.6 m

6,459.1 m'

9,1145 m

30




1,500

1,700

14,152.8 m

2,300

2,700

6,459.1 m

31




|| N0 PA~|W|DN|PF

=
o

(

)

5, 3557.

()

O |0 | N[O |~ |W|N|PF

=
o

=
o

=
N

=
w

(

)

32



33



